2016 S=0iStul ASIES(LING < HIAEIE IHE SHE JIY

24 Mg 5
1 ST p— =20 - 00 = EFn 2200 e
> == 201556 EE ! 00 = =5 3.000 e
3 o190 OCIE] BreTst 3 . of | soszx olEl
4 OrVITI = iEE e 1 — of | goaszy I
5 - =] . 00 DZogz | o#| gos2x | AggsoE
g | VI=HIZBAEENT) —5g = 00 FELENNETIECEEER R
7 REES B S 1 . o | go==x olEl
£ S0
8 =) A ArBI= X Ar2S : o= o | 1.800~2,000 =7
x/\|§|/\|_ A} XH géﬂmtﬁ'}\l'
g FaelA &R Sofol 99| UgAiE BEMIER 1 = = [1.800-2.000 EE)
10 ol o A0LZE =0 (=) 00 TE o [2.000~2.500 FE)
11 EEEEN EEn Siei2izial ) > TE m 2.000 | _Jiotol|
12 e EE ENVEEENER > e oo | 5o=2x e
13 250l SR ENEEENER > 0= EIEEEEE: ot
14 _ oy g] Mz oo 00 = S 3.800 =5
He2osgA _£ :
15 IOl = 7 AR A PR 00 = 2o 3,800 ko)
Sk2= O:| === M DB'- HoOoIlS2>HAX™ Pl
17 o) FEEE 00 B AL EIEEEEE FE)
B EE] e T 1 = o [ so==2x .
- Sx=A ENTEEE = S IEEEEE: oF
19 sgMaNER | ooEZE AC O S B 12 = AR EE :
20 EEREL FEETPEEK 10 e ERIEPEEE e
o1 ERNEEEEE FolAg ErEE 1 S AT o [ so==2x .
22 | soizaizasge NESIE FENEE 1 = ea| gosay | AnEcold
23 AZCIAel Cliolme > = oo | gos2d | Ajgsod
24 e . 1 . = 2 880 .
o5 e SIE] . 1 . m 5880 .
26 oo . 1 . m 5880 .
57 T AAl oI AILIO] 1215 A E A 1 oo = [7.800~2.000 EE
- U B EE NS — .
08 = I HE ﬂg;h'ﬁ'@gg @g)—(er 1 0= on| goszug olEd
29 R Nem | D22 A=x 2eetd | 00 TE B EEEEE EE)
30 SETPN EEE n 3 e oo 3.020 FE)




